ASSEMBLY INSTRUCTION

ITEM No : PW-2250Q VIA-HB/PW-2250Q VIA-FB/
PW-2250QK VIA-RS

QN PANEL BED - RYDER MAHOGANY

Hardware List Below.

Keep all hardware out of reach of children.

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small Hardware
which may have come loose inside the carton during shipment. Identify and count all Hardware and compare with the

PART LIST

NO DESCRIPTION QTY | NO DESCRIPTION QTY
A | QN PANEL HDBD 1PC | D |SLAT 4PCS

QN PNL FB W/SL 1PC SLAT SUPPORT 4PCS
C | QN/KG WIDE RLS 2PCS

HARDWARE LIST (PW-2250QK VIA-RS QN/KG WIDE RLS)

NO| DESCRIPTION SIZE DRAWING | QTY| NO| DESCRIPTION SIZE DRAWING| QTY
1 |HANGERBOLT | @5/16"x3 1/2" s |3PCS| 4 | FLATWASHER | ©5/16" x 14 x Imm @ |[srcs
2 | HEXAGON NUT | @5/16" 8PCcs| 5 [SPANNER 5 |irc
3 | LOCK WASHER | @5/16" © |[8PCS| 6 |screw M4 X 32MM @mum- 8 PCS

’\\K

MADE IN VIET NAM

PAGE10F1



